| dE/dx estimator 1 |

Ratio

0.4

0.35

0.3

0.25

0.2

0.15

0.95%

=
A B

Entries
Mean
Std Dev

Entries
Mean
Std Dev

1 2 3 4 5 6 7 8 9 10

dE/dx, harm?2

Ratio

| dE/dx estimator 2 |

= - Entries 84

o = Mean 3.071

O e N i R AR S Std Dev 0.61
0_35__ .......................................... Entries 85
C Mean 3.075

C Std Dev 0.5864
0.3 i bt
0.25F s AN R S S S
0.2 it

0.15

. 99| o9 1 N -

1 2 3 4 5 6 7 8 9 10
dE/dx, trunc40

=—=— DQM_TT _time_newbranch

—e— DQM_TT newbranch_time_plLess

|'I'l'l'r'['l"r'l"l"l"l"l"l'1'1'|'I'

=

...................................................

10 20

o

30 40 50 60 70 80

dE/dx number of measurements

[T | Mean 9.595 0 5' ______________________________________ : | Mean 0.7024
i : |_Std Dev 3.533 It :'|_Std Dev 0.9358
: ¢ | Entries 85 Entries 85
E T T . | Mean 9.671 ; ¢ | Mean 0.7176
b . | std Dev 3.523 0.4} T std Dev 0.9654
E O I S S S S S

0.2}

S i

0.1

-1 -1

mval,

Ratio

0.95L

84

0

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


